Review for Differential Equations Quiz 2018 Name: Q r\g M
AP Calculus

Solve each differential equation below. If an initial condition is given, find the particular solution; if an
initial solution is not given, find the general solution. Verify that your solutions are correct.

C—i‘y—:x-{-z ( \I‘Qf:ig % .’

g";édngﬁmA_;)d\X %i: N4+ -

\,%: 3@9&@ 3




5 ¥ +xy=100x e =1y

_g% = X (lO“D *g) g;ﬁjfji%(y? “CL)‘ :
% _ C\X | = C_Qﬁk-p 100 ]
iy " D

Tore
L2 Sinc. et g an
QM“GO-'éi :EK +C), acbirae Cons o,
Ca.?( pal N (lm_ﬂl O-Ql'\‘ Xy Celevod
b x hgre,, ne L\ bR
© 2) Sketch the slope field for the equation "—.X_' - ; on the grid below. v
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b) Given that y = f(x) is & solution to the differential equation above and given that 1 = f(0} is a point

on f(x), sketch f(x), on the grid above.
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f(x) is a solution to the differential equation above and given that 1 = f(0) is a point

If the initial condition is ((}, 3), what is the range of the solution curve y = f(z)fora > 0?
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b) Given that y
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8) Consider the curve given by the equation y* — xy = 2. It can be shown that % = 3 zy .
Yy -x

(a) Write an equation for the line tangent 10 the curve at the point (-1, ).

(b) Find the coordinates of all points on the curve at which the line tangent to the curve at that point is vertical.

2
{c) Evaluate %} at the point on the curve where x = —1 and y = 1.
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9) Let ¥ = J (X) be the particular solution to the differential equation y =x+ 3y with the initial
condition f (1) = —2 . Does f have a relative minimum, a relative maximum, or neither at X = 192
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Justify your answer.

Skoflo*j‘ (h-) = 61 = 1 +3(-a) = —-§
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